@ 3a* -27b* = 3(a + 3b)(a — 3b)
(@)64® - 125 = (4a + 5)(16a% - 20a + 25)

@ (2-x) (2-x+1)-6=(2-x+3)(x+1)(x-2)

® 2x* -5x+3=(x-1)(2x-3)

64a® — 125
= (4a)’ - (5)°
= (4a - 5) (16a* + 20a + 25)




02 5 22 +y% + 2xy - 2x — 2y O] QITFopd A2

@ x+y @ -x-y
@x—y ® 2x+2y

B

9

@ x+y-2

(& 4)

= (¥ +2xy+y%) - 2(x+)
=(x+y)?-2(x+y)

= (x+y)(x+y-2)

g,
x+»E+y-2)=-(-x-y)(x+y-2)
%(2x+2y)(x+y—2)




3. (P+x)(x*+x-8)+128 ALEF
L7

2
2
o
oo

@x—l @x+1 @x—2 @x+2

B

® x+3

R+x=A2 =01 Fo]z A&
AA-8)+12=A%-8A+12
—(4-2)(4-6)
)= (x* +x-2)(x2 +x-6)
= (x-1)(x+2)(x-2)(x+3)

A(EH




x+ 1) (x+2)(x+3)(x +4) + a7t xo] I LA
off 2 o, H4- a9 72?7

® -5 @ -3 ® -1

@1 ® 3

(FA) =(x+1)(x+2)(x+3)(x+4) +a
= (x> +5x+4)(x2 +5x+6) +a
x?+5x+4=Y=E X|gstH
(F) =Y(Y+2)+a
=Y?+2Y+a
s AAEA ] HEHa=1




a® = b = ¢ 4 2bc O] A7} obd A27

D a-b+c @ a+b-c ® -a+b-c
@—a+b+c ® —a-b+c

B

a’* —b%* — c? + 2bc = a? — (b® + 2 — 2bc)
=a?-(b-c)?
=(a+b-c)la-b+c)

A4 (a+b-c), (a-b+c)(D, BHFIE 5)




6. x4 2x%y? + 9yt AFEofstH?

D (x* + 3y?)?

@ (x%-3y?)?

®

@x + 2xy + 3y?) (x% — 2xy + 3y?)

(x?
(
(2% 4 xy + 3y?) (x? — xy + 3y?)
(
® (x4 2xy + 2y?)(x? — 2xy + 2y?)

(£2]) = x* + 6x%y? + 9y* — 4x?%y?
= (2 +3y%) - (2xy)*
= (x% + 2xy + 3y?)(x? — 2xy + 3y?)




O 2x% — xy —y? —dx +y + 25 U520l o A2?

@ (2x-y-2)(x+y-1) @ (2x+y+2)(x-y+1)
® 2x-y-2)(x-y-1) @ 2x+y-2)(x+y-1)
(@)(Qx—l—y—Q)(x—y—l)




8.

xt=15x2+10x+24 = (x+a)(x+b)(x+c)(x+d) W, a+b+c+d
o] k& a7

@ -5 )0 ® 2 @ 3 ® 5

J5apo] o Fel A x = 1,22 BYstA A9 grol o

ZolW AL x+1,x-28 A48 Zert

ZYAFOR o] B,

101 0 -15 10 24
11 14 -24
211 -1 -14 24\_0
2 2 -2
301 1 -12|_0
3 12
41 4|_o
4
110

x* —15x2 + 10x + 24
=(x+1)(x=2)(x=-3)(x+4)
wa+tbt+c+d=14+(-2)+(-3)+4=0
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9. AZOEA AHEx y, zol tiot] 3 +y3 + 22 =3xyz E WSS O,
x+y+z9 q2?

@o @ 1 ® 2 @ 3 ® 4

2+ 33+ 23 - 3xyz
=(x+y+2)(*FP+y*+22-xy-yz—zx) =0
(x+y+2)=0F=2+y*+22-xy-yz-2zx=0

1
Lty +z=0FE S{(x-))’+ (-2’ + -2 =0
Jd8Y x, y, z 7V AR GE A AF(x#y£2) O|BEZ
x+y+z=0




10.

2006% — 1
2006 x 2007 + 1

@2005

@ 2006

o] ft& FohH?

® 2007 @ 2008

® 2009

(a-1)(a+a+1)

Il
Q
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o
o
(¥

a?+a-+1




bol ohe 473 %

S

X2 —-x-2, B=x>-5x+6°]

A A=

ol
0 R

,DI O_L
o ol

:

(x=2)%(x+

(x-2)(x-3)
3

)x+1), B
X
ey

~ =T
_%%@ﬁ
/m\_ﬂ_oﬂoﬂu _
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12, 5094 2 px-2, 14200 -3x0) AUFIFE Glx), HaFHE

L(x)2t &, G(2) + L(2) 9] 7& F-519?

B ,

Hx-2=(x+2)(x-1)
¥4+2x2-3x=x(x-1)(x+3)
LGx)=x-1
Lx)=x(x-1)(x+2)(x+3)
© G(2)+L(2)=1440 =41




13.

A 22 4 3x+a, ¥~ 3r+ bS] ARFHST x- 190 W, Az

O,
o 1

wlg Fotofel,

okl n

DO x>+3x2-12x+38 @ x*-3x2+10x-8
@x3+x2—10x+8 @ x> -9x+38

® ¥ +2x2-8x+10

1+3+a=01-3+b=0°Aa=-4 b=2
¥ +3x-4=(x-1)(x+4)

2 -3x+2=(x-1)(x-2)

I8ug F oA Hagalee

(x=1)(x-2)(x+4) =x>+ x> - 10x+ 8




14. oJAF] A7t 1 A F oA A, B 9] Htfgofrrt x -1, H| AT
W47t x® —3x+ 24 W, A+ BE?

@2x2—x—1 @ 2x2+x+1 ® 2x2-2x-1

@ 2x2-2x+1 ® 2x2-2x+3

G=x-1,L=(x-1)%(x+2)
A=(x-1)2=x>-2x+1, B=(x-1)(x+2)=x2+x-2
A+B=2x-x-1




Ol Hl W] Aol g, b, ¢7} b2 —ac® +a’b+ab®> +a® -bc? =0

47

15.

©

uld

—_—

o)

=

o

s
—(a+b)®+a®+a?b+b3+ab* =0

o

—(a+b)c* +a*(a+b)+b*(a+b)=0

—(a+b)(c?-a*-b*)=0

(a+b+0)

=0

2 —a? - b2

sc? =a? + b?




